Magnetic oscillations in graphene

Simon Becker (joint work with Maciej Zworski)

Univ. of Cambridge



◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>



$$\mathcal{H} = igoplus_{e \in \mathcal{E}} L^2(e), \;\; \mathcal{E} = \; ext{edges}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?



$$\mathcal{H} = \bigoplus_{e \in \mathcal{E}} L^2(e), \quad \mathcal{E} = \text{ edges}$$
$$(Hu) = (-\partial_x^2 + V(x))u_e, \quad u_e \in H^2(e)$$
$$v \in \partial e_1 \cap \partial e_2 \quad \Rightarrow \quad u_{e_1}(v) = u_{e_2}(v), \qquad \sum_{\partial e \ni v} \partial_v u_e(v) = 0.$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへぐ

Kuchment-Post '07



$$\mathcal{H} = \bigoplus_{e \in \mathcal{E}} L^2(e), \quad \mathcal{E} = \text{ edges}$$
$$(Hu) = (-\partial_x^2 + V(x))u_e, \quad u_e \in H^2(e)$$
$$v \in \partial e_1 \cap \partial e_2 \quad \Rightarrow \quad u_{e_1}(v) = u_{e_2}(v), \qquad \sum_{\partial e \ni v} \partial_v u_e(v) = 0.$$

Kuchment-Post '07

Manoharan et al '12

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへぐ



・ロト ・回ト ・ヨト

æ

Hexagonal quantum graph



Hexagonal quantum graph

The spectrum is continuous and we have Floquet-Bloch theory:

$$k=(k_1,k_2)\in \mathbb{R}^2/2\pi\mathbb{Z}^2, \ \ \Lambda\simeq \mathbb{Z}^2, \ \ \gamma_1b_1+\gamma_2b_2 \leftrightarrow (\gamma_1,\gamma_2).$$



Hexagonal quantum graph

The spectrum is continuous and we have Floquet-Bloch theory:

$$k=(k_1,k_2)\in \mathbb{R}^2/2\pi\mathbb{Z}^2, \ \ \Lambda\simeq \mathbb{Z}^2, \ \ \gamma_1b_1+\gamma_2b_2 \leftrightarrow (\gamma_1,\gamma_2).$$

$$\operatorname{Spec}_{\operatorname{cont}}(H) = \bigcup_{n \geq 1} \bigcup_{\pm} \left\{ \Delta |_{[\alpha_n, \beta_n]}^{-1} \left(\pm \frac{1}{3} |1 + e^{ik_1} + e^{ik_2}| \right)
ight\}.$$



・ロト ・ 理 ト ・ ヨ ト ・ ヨ ト ・ ヨ

Hexagonal quantum graph

The spectrum is continuous and we have Floquet-Bloch theory:

$$k=(k_1,k_2)\in \mathbb{R}^2/2\pi\mathbb{Z}^2, \ \ \Lambda\simeq \mathbb{Z}^2, \ \ \gamma_1b_1+\gamma_2b_2 \leftrightarrow (\gamma_1,\gamma_2).$$

$$\operatorname{Spec}_{\operatorname{cont}}(H) = \bigcup_{n \ge 1} \bigcup_{\pm} \left\{ \Delta |_{[\alpha_n, \beta_n]}^{-1} \left(\pm \frac{1}{3} |1 + e^{ik_1} + e^{ik_2}| \right) \right\}.$$

Kuchment-Post '07



イロト 不得 トイヨト イヨト

э

Hexagonal quantum graph

The spectrum is continuous and we have Floquet-Bloch theory:

$$k=(k_1,k_2)\in \mathbb{R}^2/2\pi\mathbb{Z}^2, \ \ \Lambda\simeq \mathbb{Z}^2, \ \ \gamma_1b_1+\gamma_2b_2 \leftrightarrow (\gamma_1,\gamma_2).$$

$$\operatorname{Spec}_{\operatorname{cont}}(H) = \bigcup_{n \ge 1} \bigcup_{\pm} \left\{ \Delta |_{[\alpha_n, \beta_n]}^{-1} \left(\pm \frac{1}{3} |1 + e^{ik_1} + e^{ik_2}| \right) \right\}.$$

Kuchment-Post '07

Fefferman-Weinstein '12, '14: 2D Schrödinger equation models

What is actually observed?

◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>

$$\widetilde{\operatorname{tr}} f(H) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))}$$

$$\widetilde{\operatorname{tr}} f(H) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho(E).$$

$$\widetilde{\operatorname{tr}} f(H) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho(E).$$

▲□▶ ▲圖▶ ▲臣▶ ▲臣▶ ―臣 … のへで



$$\widetilde{\operatorname{tr}} f(H) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho(E).$$



Quantum graph

Molecular graphene Manoharan et al '12

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

 $\mathbf{B} := B \ dx_1 \wedge dx_2$



$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B(-x_2 \, dx_1 + x_1 \, dx_2).$$

$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B\left(-x_2 \, dx_1 + x_1 \, dx_2\right).$$

$$(H^{B}\psi)_{e} := (D^{B}D^{B}\psi)_{e} + V\psi_{e}, \quad (D^{B}\psi)_{e} := -i\psi'_{e} - A_{e}\psi_{e}$$
$$v \in \partial e_{1} \cap \partial e_{2} \quad \Rightarrow \quad \psi_{e_{1}}(v) = \psi_{e_{2}}(v), \qquad \sum_{\partial e \ni v} (D^{B}\psi)_{e}(v) = 0.$$

◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>

$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B\left(-x_2 \, dx_1 + x_1 \, dx_2\right).$$

$$(H^{B}\psi)_{e} := (D^{B}D^{B}\psi)_{e} + V\psi_{e}, \quad (D^{B}\psi)_{e} := -i\psi'_{e} - A_{e}\psi_{e}$$
$$v \in \partial e_{1} \cap \partial e_{2} \quad \Rightarrow \quad \psi_{e_{1}}(v) = \psi_{e_{2}}(v), \qquad \sum_{\partial e \ni v} (D^{B}\psi)_{e}(v) = 0.$$

It is now important that the graph is directed.

$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B\left(-x_2 \, dx_1 + x_1 \, dx_2\right).$$

$$(H^{B}\psi)_{e} := (D^{B}D^{B}\psi)_{e} + V\psi_{e}, \quad (D^{B}\psi)_{e} := -i\psi'_{e} - A_{e}\psi_{e}$$
$$v \in \partial e_{1} \cap \partial e_{2} \quad \Rightarrow \quad \psi_{e_{1}}(v) = \psi_{e_{2}}(v), \qquad \sum_{\partial e \ni v} (D^{B}\psi)_{e}(v) = 0.$$

・ロト・日本・モト・モート ヨー うへで

It is now important that the graph is directed. The Peierls substitution $P: \psi_e \mapsto e^{iA_e t}\psi_e$:

$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B\left(-x_2 \, dx_1 + x_1 \, dx_2\right).$$

$$(H^{B}\psi)_{e} := (D^{B}D^{B}\psi)_{e} + V\psi_{e}, \quad (D^{B}\psi)_{e} := -i\psi'_{e} - A_{e}\psi_{e}$$
$$v \in \partial e_{1} \cap \partial e_{2} \quad \Rightarrow \quad \psi_{e_{1}}(v) = \psi_{e_{2}}(v), \qquad \sum_{\partial e \ni v} (D^{B}\psi)_{e}(v) = 0.$$

It is now important that the graph is directed.

The Peierls substitution $P: \psi_e \mapsto e^{iA_e t}\psi_e$:

$$\Lambda^{B} := P^{-1}H^{B}P, \quad (\Lambda^{B}\psi)_{e} = -\psi_{e}'' + V\psi_{e}$$
$$\partial_{\pm}e_{1} = \partial_{\pm}e_{2} =: v \implies e^{i\delta_{+\pm}A_{e_{1}}}\psi_{e_{1}}(v) = e^{i\delta_{+\pm}A_{e_{2}}}\psi_{e_{2}}(v),$$
$$\sum_{\partial_{\pm}e \ni v} e^{i\delta_{+\pm}A_{e}}\psi_{e}'(v) = 0,$$

$$\mathbf{B} := B \, dx_1 \wedge dx_2 = d\mathbf{A}, \quad \mathbf{A} = \frac{1}{2}B\left(-x_2 \, dx_1 + x_1 \, dx_2\right).$$

$$(H^{B}\psi)_{e} := (D^{B}D^{B}\psi)_{e} + V\psi_{e}, \quad (D^{B}\psi)_{e} := -i\psi'_{e} - A_{e}\psi_{e}$$
$$v \in \partial e_{1} \cap \partial e_{2} \quad \Rightarrow \quad \psi_{e_{1}}(v) = \psi_{e_{2}}(v), \qquad \sum_{\partial e \ni v} (D^{B}\psi)_{e}(v) = 0.$$

It is now important that the graph is directed.

The Peierls substitution $P: \psi_e \mapsto e^{iA_e t}\psi_e$:

$$\begin{split} \Lambda^B &:= P^{-1} H^B P, \ \ (\Lambda^B \psi)_e = -\psi_e'' + V \psi_e \\ \partial_\pm e_1 &= \partial_\pm e_2 =: v \implies e^{i\delta_{+\pm}A_{e_1}} \psi_{e_1}(v) = e^{i\delta_{+\pm}A_{e_2}} \psi_{e_2}(v), \\ &\sum_{\partial_\pm e \ni v} e^{i\delta_{+\pm}A_e} \psi_e'(v) = 0, \end{split}$$

Brüning-Geyler-Pankrashkin '07

◆□▶ ◆□▶ ◆ 臣▶ ◆ 臣▶ 臣 のへで

$$(\Lambda^B - \lambda)^{-1} = (\Lambda^D - \lambda)^{-1} - \gamma(\lambda)M(\lambda)^{-1}\gamma(\overline{\lambda})^*$$

$$(\Lambda^B - \lambda)^{-1} = (\Lambda^D - \lambda)^{-1} - \gamma(\lambda)M(\lambda)^{-1}\gamma(\overline{\lambda})^*$$

$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^{0} + \tau^{1} \\ \left(1 + \tau^{0} + \tau^{1}\right)^{*} & -\Delta(\lambda) \end{pmatrix}$$

$$au^0(r)(\gamma):=r(\gamma_1-1,\gamma_2) \quad au^1(r)(\gamma):=e^{ih\gamma_1}r(\gamma_1,\gamma_2-1), \ \ \gamma\in\mathbb{Z}^2$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

$$(\Lambda^B - \lambda)^{-1} = (\Lambda^D - \lambda)^{-1} - \gamma(\lambda)M(\lambda)^{-1}\gamma(\overline{\lambda})^*$$

$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^0 + \tau^1 \\ (1 + \tau^0 + \tau^1)^* & -\Delta(\lambda) \end{pmatrix}$$

$$au^0(r)(\gamma):=r(\gamma_1-1,\gamma_2)$$
 $au^1(r)(\gamma):=e^{ih\gamma_1}r(\gamma_1,\gamma_2-1), \ \gamma\in\mathbb{Z}^2$

which has the same spectrum as

$$rac{1}{3}egin{pmatrix} -\Delta(\lambda) & 1+e^{ix}+e^{ihD_x}\ (1+e^{ix}+e^{ihD_x})^* & -\Delta(\lambda) \end{pmatrix}$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

Reduction to Jacobi-Operator

The spectrum of the matrix $M(\lambda)$

$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^0 + \tau^1 \\ (1 + \tau^0 + \tau^1)^* & -\Delta(\lambda) \end{pmatrix}$$

◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>

Reduction to Jacobi-Operator

The spectrum of the matrix $M(\lambda)$

$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^0 + \tau^1 \\ (1 + \tau^0 + \tau^1)^* & -\Delta(\lambda) \end{pmatrix}$$

can be expressed in terms of the spectrum of the scalar Jacobi-Operator which for $c(z) = 1 + e^{-2\pi i z}$ becomes

$$(J\psi)_n = c(\theta + m\Phi/2)\psi_{n+1} + 2\cos(2\pi m\theta + \Phi)\psi_n + c(\theta + (m-1)\Phi/2)\psi_{n+1}.$$

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Reduction to Jacobi-Operator

The spectrum of the matrix $M(\lambda)$

$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^0 + \tau^1 \\ (1 + \tau^0 + \tau^1)^* & -\Delta(\lambda) \end{pmatrix}$$

can be expressed in terms of the spectrum of the scalar Jacobi-Operator which for $c(z) = 1 + e^{-2\pi i z}$ becomes

$$(J\psi)_n = c(\theta + m\Phi/2)\psi_{n+1} + 2\cos(2\pi m\theta + \Phi)\psi_n + c(\theta + (m-1)\Phi/2)\psi_{n+1}.$$

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

Remember also that the almost-Mathieu operator is

$$(J\psi)_n = \psi_{n+1} + \psi_{n-1} + 2\lambda\cos(2\pi m\theta + \Phi).$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへで

 $\widetilde{\operatorname{tr}} f(H^B) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))}$

$$\widetilde{\operatorname{tr}} f(H^B) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho_B(E)$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへで

$$\widetilde{\operatorname{tr}} f(H^B) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho_B(E)$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

The limit does exist in this case as well but that is less obvious since we do not have periodicity anymore.

$$\widetilde{\operatorname{tr}} f(H^B) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho_B(E)$$

The limit does exist in this case as well but that is less obvious since we do not have periodicity anymore.

Qualitative pictures of $\rho_B(E)$ from the physics literature:



$$\widetilde{\operatorname{tr}} f(H^B) := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} f(H)}{\operatorname{vol}(B(R))} = \int_{\mathbb{R}} f(E) d\rho_B(E)$$

The limit does exist in this case as well but that is less obvious since we do not have periodicity anymore.

Qualitative pictures of $\rho_B(E)$ from the physics literature:





Luican et al '11
$$\int f(E)d\rho_B(E) = \frac{B}{\pi} \sum_{n \in \mathbb{Z}} f(E_n), \quad E_n := \operatorname{sign}(n)v_F \sqrt{|n|B}$$

◆□ ▶ ◆□ ▶ ◆三 ▶ ◆□ ▶ ◆□ ▶

$$\int f(E)d\rho_B(E) = \frac{B}{\pi}\sum_{n\in\mathbb{Z}}f(E_n), \quad E_n := \operatorname{sign}(n)v_F\sqrt{|n|B}$$

Theorem. For *I* a neighbourhood of a Dirac energy, E_D , $\Delta(E_D) = 0$, and *h* the magnetic flux through a honeycomb $f \in C_c^{\alpha}(I), \quad \alpha > 0$,

$$\int f(E)d\rho_B(E) = \frac{B}{\pi}\sum_{n\in\mathbb{Z}}f(E_n), \quad E_n := \operatorname{sign}(n)v_F\sqrt{|n|B}$$

Theorem. For *I* a neighbourhood of a Dirac energy, E_D , $\Delta(E_D) = 0$, and *h* the magnetic flux through a honeycomb $f \in C_c^{\alpha}(I), \quad \alpha > 0$,

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$
$$\Delta(E_n(h)) = \kappa(nh, h)$$

$$\int f(E)d\rho_B(E) = \frac{B}{\pi}\sum_{n\in\mathbb{Z}}f(E_n), \quad E_n := \operatorname{sign}(n)v_F\sqrt{|n|B}$$

Theorem. For *I* a neighbourhood of a Dirac energy, E_D , $\Delta(E_D) = 0$, and *h* the magnetic flux through a honeycomb $f \in C_c^{\alpha}(I), \quad \alpha > 0$,

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$
$$\Delta(E_n(h)) = \kappa(nh, h)$$

$${\sf F}(\kappa(\zeta,h)^2,h)=\zeta, \ \ {\sf F}(\omega,h)\sim \sum_{j=0}^\infty h^j{\sf F}_j(\omega), \ \ {\sf F}_j\in C^\infty(\mathbb{R}),$$

$$\int f(E)d\rho_B(E) = \frac{B}{\pi}\sum_{n\in\mathbb{Z}}f(E_n), \quad E_n := \operatorname{sign}(n)v_F\sqrt{|n|B}$$

Theorem. For *I* a neighbourhood of a Dirac energy, E_D , $\Delta(E_D) = 0$, and *h* the magnetic flux through a honeycomb $f \in C_c^{\alpha}(I), \quad \alpha > 0$,

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$
$$\Delta(E_n(h)) = \kappa(nh, h)$$

$${\sf F}(\kappa(\zeta,h)^2,h)=\zeta, \ \ {\sf F}(\omega,h)\sim \sum_{j=0}^\infty h^j{\sf F}_j(\omega), \ \ {\sf F}_j\in C^\infty(\mathbb{R}),$$

$$F_0(\omega) = \frac{1}{4\pi} \int_{\gamma_\omega} \xi dx, \ \gamma_\omega = \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{ix}+e^{i\xi}|^2}{9} = \omega \right\}$$

 $\Delta(E_n(h)) = \kappa(nh, h), \quad F_0(\kappa(\zeta, h)^2, h) = \zeta + \mathcal{O}(h),$

$$F_0(\omega) = \frac{1}{4\pi} \int_{\gamma_\omega} \xi dx, \ \gamma_\omega = \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{ix}+e^{i\xi}|^2}{9} = \omega \right\}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

 $\Delta(E_n(h)) = \kappa(nh, h), \quad F_0(\kappa(\zeta, h)^2, h) = \zeta + \mathcal{O}(h),$

$$F_0(\omega) = \frac{1}{4\pi} \int_{\gamma_\omega} \xi dx, \ \gamma_\omega = \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{ix}+e^{i\xi}|^2}{9} = \omega \right\}$$



 $\Delta(E_n(h)) = \kappa(nh, h), \quad F_0(\kappa(\zeta, h)^2, h) = \zeta + \mathcal{O}(h),$

$$F_0(\omega) = \frac{1}{4\pi} \int_{\gamma_\omega} \xi dx, \ \gamma_\omega = \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{ix}+e^{i\xi}|^2}{9} = \omega \right\}$$



▲□▶ ▲圖▶ ▲臣▶ ▲臣▶ 三臣 - のへで

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$

<□ > < @ > < E > < E > E のQ @

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$

Spec(H^B) is complicated (even as $h \rightarrow 0$):



◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$

Spec(H^B) is complicated (even as $h \rightarrow 0$):



◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 のへで

$$\int f(E)d\rho_B(E) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty})$$

Spec(H^B) is complicated (even as $h \rightarrow 0$):



Grand canonical potential:



Grand canonical potential: $\rho_B^+(E) := \rho_B(E)E_+^0$,

$$egin{aligned} \Omega_eta(\mu,B) &:=
ho_B^+ * f_eta(\mu) \ f_eta(x) &:= -rac{1}{eta} \log\left(\exp\left(eta x
ight) + 1
ight) o - x_+, \quad eta o \infty \end{aligned}$$

・ロト・日本・モート モー うへぐ

Grand canonical potential: $\rho_B^+(E) := \rho_B(E)E_+^0$,

$$egin{aligned} \Omega_eta(\mu,B) &:=
ho_B^+ * f_eta(\mu) \ f_eta(x) &:= -rac{1}{eta} \log\left(\exp\left(eta x
ight) + 1
ight) o - x_+, \quad eta o \infty \end{aligned}$$

Magnetization:

$$M_{eta}(\mu,B) = -rac{\partial \Omega_{eta}(\mu,B)}{\partial B}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

Grand canonical potential: $\rho_B^+(E) := \rho_B(E)E_+^0$,

$$egin{aligned} \Omega_eta(\mu,B) &:=
ho_B^+ * f_eta(\mu) \ f_eta(x) &:= -rac{1}{eta} \log\left(\exp\left(eta x
ight) + 1
ight) o - x_+, \quad eta o \infty \end{aligned}$$

Magnetization:

$$M_{eta}(\mu,B) = -rac{\partial \Omega_{eta}(\mu,B)}{\partial B}$$

Semiclassical approximation:

$$\Omega_{\beta}(\mu,B) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \geq 1} f_{\beta}(\mu - E_n(h)) + \mathcal{O}(h^{\infty}), \ h = B|b_1 \wedge b_2|.$$

▲□▶ ▲圖▶ ▲臣▶ ▲臣▶ 三臣 - わへで

Grand canonical potential: $\rho_B^+(E) := \rho_B(E)E_+^0$,

$$\Omega_{eta}(\mu,B) :=
ho_B^+ * f_{eta}(\mu)$$
 $f_{eta}(x) := -rac{1}{eta} \log \left(\exp \left(eta x
ight) + 1
ight) o - x_+, \quad eta o \infty$

Magnetization:

$$M_eta(\mu,B) = -rac{\partial \Omega_eta(\mu,B)}{\partial B}$$

Semiclassical approximation:

$$\Omega_{\beta}(\mu,B) = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \geq 1} f_{\beta}(\mu - E_n(h)) + \mathcal{O}(h^{\infty}), \quad h = B|b_1 \wedge b_2|.$$

Differentiation can be justified for $\beta < h^{-M}$ (Helffer–Sjöstrand '90)

$$\int f(E)\rho_B(E)dE = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty}), \ \alpha > 0$$

The proof follows the strategy of Helffer-Sjöstrand '90.

$$\int f(E)\rho_B(E)dE = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{\mathcal{C}^{\alpha}}}(h^{\infty}), \ \alpha > 0$$

The proof follows the strategy of Helffer–Sjöstrand '90.

Step 1. Reduction to an operator on $\ell^2(\mathbb{Z}^2)$ via Krein's formula of Brüning–Geyler–Pankrashkin '07:

・ロト・日本・モート モー うへぐ

$$\int f(E)\rho_B(E)dE = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty}), \ \alpha > 0$$

The proof follows the strategy of Helffer–Sjöstrand '90.

Step 1. Reduction to an operator on $\ell^2(\mathbb{Z}^2)$ via Krein's formula of Brüning–Geyler–Pankrashkin '07:

$$(\Lambda^B - \lambda)^{-1} = (\Lambda^D - \lambda)^{-1} - \gamma(\lambda)M(\lambda)^{-1}\gamma(\overline{\lambda})^*$$

・ロト・日本・モート モー うへぐ

$$\int f(E)\rho_B(E)dE = \frac{h}{\pi |b_1 \wedge b_2|} \sum_{n \in \mathbb{Z}} f(E_n(h)) + \mathcal{O}_{\|f\|_{C^{\alpha}}}(h^{\infty}), \ \alpha > 0$$

The proof follows the strategy of Helffer–Sjöstrand '90.

Step 1. Reduction to an operator on $\ell^2(\mathbb{Z}^2)$ via Krein's formula of Brüning–Geyler–Pankrashkin '07:

$$(\Lambda^{B} - \lambda)^{-1} = (\Lambda^{D} - \lambda)^{-1} - \gamma(\lambda)M(\lambda)^{-1}\gamma(\overline{\lambda})^{*}$$
$$M(\lambda) \equiv \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + \tau^{0} + \tau^{1} \\ (1 + \tau^{0} + \tau^{1})^{*} & -\Delta(\lambda) \end{pmatrix}$$

 $au^0(r)(\gamma) := r(\gamma_1 - 1, \gamma_2) \quad au^1(r)(\gamma) := e^{ih\gamma_1}r(\gamma_1, \gamma_2 - 1), \quad \gamma \in \mathbb{Z}^2$

 $\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))},$

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

▲□▶ ▲□▶ ▲三▶ ▲三▶ ▲□ ● ● ●

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

$$\widetilde{\operatorname{tr}}(\Lambda^B-\lambda)^{-1}=-\widehat{\operatorname{tr}}\,M'(\lambda)\,M(\lambda)^{-1}+rac{1}{3}\widetilde{\operatorname{tr}}(\Lambda^D-\lambda)^{-1}$$

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

$$\widetilde{\operatorname{tr}}(\Lambda^B - \lambda)^{-1} = -\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} + \frac{1}{3} \widetilde{\operatorname{tr}}(\Lambda^D - \lambda)^{-1}$$
$$\widehat{\operatorname{tr}} K = \lim_{R \to \infty} \frac{\sum_{\gamma \in B(R)} K(\gamma, \gamma)}{\operatorname{vol}(B(R))}.$$

◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

$$\widetilde{\operatorname{tr}}(\Lambda^B - \lambda)^{-1} = -\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} + \frac{1}{3} \widetilde{\operatorname{tr}}(\Lambda^D - \lambda)^{-1}$$
$$\widehat{\operatorname{tr}} K = \lim_{R \to \infty} \frac{\sum_{\gamma \in B(R)} K(\gamma, \gamma)}{\operatorname{vol}(B(R))}.$$

(There is an ignored issue of switching between lattices)

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

$$\widetilde{\operatorname{tr}}(\Lambda^B - \lambda)^{-1} = -\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} + \frac{1}{3} \widetilde{\operatorname{tr}}(\Lambda^D - \lambda)^{-1}$$
$$\widehat{\operatorname{tr}} K = \lim_{R \to \infty} \frac{\sum_{\gamma \in B(R)} K(\gamma, \gamma)}{\operatorname{vol}(B(R))}.$$

(There is an ignored issue of switching between lattices) Step 3. A pseudodifferential reduction:

$$\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} = \frac{1}{|b_1 \wedge b_2|} \int_{\mathbb{R}^2/2\pi\mathbb{Z}^2} \Delta'(\lambda) \operatorname{tr}_{\mathbb{C}^2} \sigma\left(Q(\lambda)^{-1}\right) d\mathsf{x} d\xi$$

▲□▶ ▲圖▶ ▲≣▶ ▲≣▶ = 差 = のへで

$$\widetilde{\operatorname{tr}} A := \lim_{R \to \infty} \frac{\operatorname{tr} \mathbf{1}_{B(R)} A}{\operatorname{vol}(B(R))}, \quad \widetilde{\operatorname{tr}} f(\Lambda_B) = \widetilde{\operatorname{tr}} f(H_B) = \int f(E) \rho_B(E) dE$$

$$\widetilde{\operatorname{tr}}(\Lambda^B - \lambda)^{-1} = -\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} + \frac{1}{3} \widetilde{\operatorname{tr}}(\Lambda^D - \lambda)^{-1}$$
$$\widehat{\operatorname{tr}} K = \lim_{R \to \infty} \frac{\sum_{\gamma \in B(R)} K(\gamma, \gamma)}{\operatorname{vol}(B(R))}.$$

(There is an ignored issue of switching between lattices) Step 3. A pseudodifferential reduction:

$$\widehat{\operatorname{tr}} M'(\lambda) M(\lambda)^{-1} = \frac{1}{|b_1 \wedge b_2|} \int_{\mathbb{R}^2/2\pi\mathbb{Z}^2} \Delta'(\lambda) \operatorname{tr}_{\mathbb{C}^2} \sigma\left(Q(\lambda)^{-1}\right) dxd\xi$$
$$Q(\lambda) = \frac{1}{3} \begin{pmatrix} -\Delta(\lambda) & 1 + e^{ix} + e^{ihD_x} \\ 1 + e^{-ix} + e^{-ihD_x} & -\Delta(\lambda) \end{pmatrix}$$

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i \chi} + e^{i h D_\chi} \ 1 + e^{-i \kappa} + e^{-i h D_\chi} & -\Delta(\lambda) \end{pmatrix}$$

▲□▶ ▲□▶ ▲三▶ ▲三▶ ▲□ ● ● ●

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i x} + e^{i h D_x} \ 1 + e^{-i x} + e^{-i h D_x} & -\Delta(\lambda) \end{pmatrix}$$

Step 4. Quasi-modes for $Q(\lambda)$ near $\Delta(\lambda_D) = 0$:

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i x} + e^{i h D_x} \ 1 + e^{-i x} + e^{-i h D_x} & -\Delta(\lambda) \end{pmatrix}$$

$$Q(E_n(h))u_n^{\pm}(h) = \mathcal{O}(h^{\infty}) \quad \mathsf{WF}_h(u_n^{\pm}) \subset \mathrm{nbhd}\left(\pm\left(\frac{2\pi}{3}, -\frac{2\pi}{3}\right)\right)$$

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{ix} + e^{ihD_x} \ 1 + e^{-ix} + e^{-ihD_x} & -\Delta(\lambda) \end{pmatrix}$$

$$Q(E_n(h))u_n^{\pm}(h) = \mathcal{O}(h^{\infty}) \quad \mathsf{WF}_h(u_n^{\pm}) \subset \mathrm{nbhd}\left(\pm\left(\frac{2\pi}{3}, -\frac{2\pi}{3}\right)\right)$$

$$\Delta(E_n(h)) = \kappa(nh, h)$$

 $F(\kappa(\zeta, h)^2, h) = \zeta, \quad F(\omega, h) \sim \sum_{j=0}^{\infty} h^j F_j(\omega), \quad F_j \in C^{\infty}(\mathbb{R}),$

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{ix} + e^{ihD_x} \ 1 + e^{-ix} + e^{-ihD_x} & -\Delta(\lambda) \end{pmatrix}$$

$$Q(E_n(h))u_n^{\pm}(h) = \mathcal{O}(h^{\infty}) \quad \mathsf{WF}_h(u_n^{\pm}) \subset \mathrm{nbhd}\left(\pm\left(\frac{2\pi}{3}, -\frac{2\pi}{3}\right)\right)$$

$$\Delta(E_n(h)) = \kappa(nh, h)$$

$$F(\kappa(\zeta, h)^2, h) = \zeta, \quad F(\omega, h) \sim \sum_{j=0}^{\infty} h^j F_j(\omega), \quad F_j \in C^{\infty}(\mathbb{R}),$$

$$F_0(\omega) = \frac{1}{4\pi} \int_{\gamma_\omega} \xi dx, \ \gamma_\omega = \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{i\lambda}+e^{i\xi}|^2}{9} = \omega \right\}$$

◆□ ▶ < 圖 ▶ < 圖 ▶ < 圖 ▶ < 圖 • 의 Q @</p>

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{ix} + e^{ihD_x} \ 1 + e^{-ix} + e^{-ihD_x} & -\Delta(\lambda) \end{pmatrix}$$

$$Q(E_n(h))u_n^{\pm}(h) = \mathcal{O}(h^{\infty}) \quad \mathsf{WF}_h(u_n^{\pm}) \subset \mathrm{nbhd}\left(\pm\left(\frac{2\pi}{3}, -\frac{2\pi}{3}\right)\right)$$

$$\begin{split} \Delta(E_n(h)) &= \kappa(nh,h) \\ F(\kappa(\zeta,h)^2,h) &= \zeta, \quad F(\omega,h) \sim \sum_{j=0}^{\infty} h^j F_j(\omega), \quad F_j \in C^{\infty}(\mathbb{R}), \\ F_0(\omega) &= \frac{1}{4\pi} \int_{\gamma_{\omega}} \xi dx, \ \gamma_{\omega} &= \left\{ (x,\xi) \in \mathbb{R}^2 / 2\pi \mathbb{Z}^2 : \frac{|1+e^{ix}+e^{i\xi}|^2}{9} = \omega \right\} \end{split}$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

Weinstein '77, Colin de Verdière '80, ... , Helffer-Robert '84
$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i \chi} + e^{i h D_\chi} \ 1 + e^{-i \kappa} + e^{-i h D_\chi} & -\Delta(\lambda) \end{pmatrix}$$

▲□▶ ▲□▶ ▲三▶ ▲三▶ ▲□ ● ● ●

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i \lambda} + e^{i h D_{\lambda}} \ 1 + e^{-i \lambda} + e^{-i h D_{\lambda}} & -\Delta(\lambda) \end{pmatrix}$$

Step 5 (the most technical). For $\lambda \in \mathrm{nbhd}_{\mathbb{C}}(I) \setminus \mathbb{R}$,

$$\int_{\mathbb{R}^2/2\pi\mathbb{Z}^2} \operatorname{tr}_{\mathbb{C}^2} \sigma\left(Q(\lambda)^{-1}\right) d\mathsf{x} d\xi = \begin{cases} T(\lambda, h), & |\operatorname{Im} \lambda| > h^M, \\ \mathcal{O}(|\operatorname{Im} \lambda|^{-1}), & |\operatorname{Im} \lambda| > 0 \end{cases}$$

$$T(\lambda,h) := \sum_{n \in \mathbb{Z}} h \pi^{-1} (\Delta(\lambda) - \kappa(hn;h))^{-1} + G(\lambda,h) + \mathcal{O}(h^{\infty})$$

where $\lambda \mapsto G(\lambda, h)$ is holomorphic near *I*, $\Delta(E_n(h)) = \kappa(nh, h)$.

$$Q(\lambda) = rac{1}{3} egin{pmatrix} -\Delta(\lambda) & 1 + e^{i \lambda} + e^{i h D_{\lambda}} \ 1 + e^{-i \lambda} + e^{-i h D_{\lambda}} & -\Delta(\lambda) \end{pmatrix}$$

Step 5 (the most technical). For $\lambda \in \mathrm{nbhd}_{\mathbb{C}}(I) \setminus \mathbb{R}$,

$$\int_{\mathbb{R}^2/2\pi\mathbb{Z}^2} \operatorname{tr}_{\mathbb{C}^2} \sigma\left(Q(\lambda)^{-1}\right) d\mathsf{x} d\xi = \begin{cases} T(\lambda, h), & |\operatorname{Im} \lambda| > h^M, \\ \mathcal{O}(|\operatorname{Im} \lambda|^{-1}), & |\operatorname{Im} \lambda| > 0 \end{cases}$$

$$T(\lambda,h) := \sum_{n \in \mathbb{Z}} h \pi^{-1} (\Delta(\lambda) - \kappa(hn;h))^{-1} + G(\lambda,h) + \mathcal{O}(h^{\infty})$$

where $\lambda \mapsto G(\lambda, h)$ is holomorphic near *I*, $\Delta(E_n(h)) = \kappa(nh, h)$.

Compare to the formal expression:

$$\rho_B(E) = h \sum_{n \in \mathbb{Z}} (E - E_n(h) - i0)^{-1} - (E - E_n(h) + i0)^{-1}$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

Magnetic (de Haas-van Alphen?) oscillations

Comparison with numerics for the exact formula for rational h:

Magnetic (de Haas-van Alphen?) oscillations

Comparison with numerics for the exact formula for rational *h*:



◆□ > ◆□ > ◆豆 > ◆豆 > ̄豆 _ のへぐ

Thank you very much!

S.B. and Maciej Zworksi, (2018), Magnetic oscillations in a model of graphene, arXiv:1801.01931.

S.B., Rui Han, and Svetlana Jitomirskaya, (2018), Cantor spectrum of graphene in magnetic fields, arXiv:1803.00988.